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#tinclude <stdio.h>

#include <math.h>

main ()

{
double t, t1=-4.0, t2=4.0, h, I, pi;
double expt, expmt, sinht, cosht;
double expsinht, expmsinht, tanhsinht;
double sqrtl, sqrt2;

int n, i;

pi=3.1415926535897932;
for (n=8; n<=256; n=nx*2)
{

h=(t2-t1)/n;

I=0.0;

for (i=0; i<=n; i++)
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t=t1+ix*h;

expt = exp(t);

expmt = exp(-t);
sinht = (expt-expmt)*0.5;

cosht = (expt+expmt)*0.5;

expsinht = exp(pi*0.5%sinht);

expmsinht = exp(-pi*0.5xsinht) ;

tanhsinht = (expsinht-expmsinht)/(expsinht+expmsinht);

sqrtl = sqrt(1l.0+tanhsinht);

sqrt2 = sqrt(sqrt(1.0-tanhsinht));

I += pi*0.5*sqrtl*sqrt2*sqrt2*sqrt2*cosht+*h;
b
printf ("n=%d, I=%14.101f\n", n, I);
X

return 0;
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